[ Z R L 7
2 B A B peui

4
(S
N\
d/

h 39-0=13 @ O+32=96 ) 19X []=95 W O=18=10

& +=12=18 ) 304+-LJ=19 @ [—54=30 ® [IX16=48

» 96—0I=11 a0 JX8§=120 an 50+ =61 (o [J—=27T=49

a9 15X =90 ao OJ+84=197 (5 T4—[]=145 (1) 594+ ] =91



2 Al

(hH 39=-00=13
[(1=39+13
[(1=13

G =12=13
(1=18§ X 12
[(1=216

® 96—[1=1"1
[(1=96—11
[1=285%

() 15X [1=90
[1=90+15

[1=6

(10)

(14)

(1ZRKHL ) (FEXK)
A H po v
@ [O+32=9¢6 ) 19X [J=95 (4)
[1=196—232 [1=95-+19
[1=164 [1=5
®© 3J04=-0L0=19 @ =04=30 @
[1=304+19 1=30+54
[I=16 []=184
(IX8§=120 an 50+=61 D
[1=120-+8 [1=061—150
[1=15 =11
I+84=97 a5 T4—[]=45 o
[1=197—84 [1=T74—45
[1=13 [1=29

(1=18=10
(1=10X18
[(1=180
[IX 16=48
[1=48+16
[1=13
[1—2T7T=49
[1=494 27
[(1=1T6
O+ [1=291
[(1=91—59
[(1=132

¥



